ALILSTAR Seat Track Assembly

PERFORMANCE

INSTALLATION

KIT CONTENTS:
(2) Seat Tracks (1 with lever/1 without lever)
(4 3/8" Machine Screws

(4 5/16" Machine Screws

(4 3/8" Star Washers
4

4

(8

B 2eoo 5/16" Star Washers
! [’ # QQ

, SV C){:; Bell Washers
ff //////// Lz ; 5/16" Nuts
: g 5/16"Nut
.E. Frame == Flat Washer

TYPICAL CHAIR MOUNT . ; ]

@ Bell Washer

SEAT TRACK — mm<— 11-1/2" CENTERTO CENTER —» mimm |
' Y —5/16" or 3/8"
7/8" TALL - —
5/16" Stud é_l :  Star Washer
(Imn|

Flat Washer ==

" (I

Machine Screw
SEAT TRACK STUDS
11" CENTERTO CENTER

« SOME HARDWARE NOT REQUIRED DUE TO SEAT VARIANCE
o FLAT WASHERS NOT INCLUDED WITH KIT
Plastic/Resin Seat

TYPICAL SEAT
WITH THREADED INSERTS
5/16" or 3/8"
[II[I «—— Threaded Insert ——p [III]

C:j Bell Washer

SEAT TRACK _‘; —4— 11-1/4" CENTER TO CENTER _>’ |
7/8" TALL — - == 5/16" or 3/8"
E 5/16" Stud : Star Washer
= = Flat Washer —=
[ 5/16" Nut T
5/16" or 3/8"

) Machine Screw
SEAT TRACK STUDS

11" CENTERTO CENTER

Allstar Performance 8300 Lane Dr., Watervliet, Ml 49098
Phone: (269) 463-8000 Fax: (800) 772-2618 www.allstarperformance.com

Form 1100 Rev. 051210



